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Q-1 Multiple choice questions. (10)

1.

What type of an alkyl group is an isobutyl group ?

(A)Primary (B) Secondary (C)tertiary (D) none of these

Which of the following alkanes will have the highest boiling point ?
(A)n-octane (B) Isopentane (C)n-Butane (D) Neopentane

The maximum number of isomers for an alkene with molecular formula C4Hgis:
{A)2 (B}4 ()5 (D)3

‘Which is the more fundamental property of the elements ?
(A) Atomic weight (C) Atomic number
(B) Atomic radius (D) lonization energy

. metals have lowest tendency to attract electrons towards them.
{A) Alkaline earth (B} Transition (C) Alkali (D) non-metals.

Which concept classifies the acids and bases on the basis of proton transfer 7
(A)Lewis (B) Lowery-Bronsted (C) Arrhenious (D} None oh these

A Substance having tendency to lose H* is called

(A)Lewis acid (B} Arrhenious acid (C) Lowery-Bronsted aad {D) Usanovich

The analysis in which we find out selected constituents of the sample is known as.
(A) Proximate analysis (C) Trace constituent analysis
(B) Partial analysis (D) complete analysis

The instrumental technigue in which the measurement of difference in tempetature
between sample and reference material is called.
{A)TGA (B)DTA (C)DSC (D} electro-gravimetry

10. The degree of closeness between measured value and true value is

(A)Accuracy (B) precision (C) Analysis (D) method

Q-2 Short Answer Question (Attempt 10 out of 12) C@j

1. Discuss the classification of Hydrocarbon.
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2. Define the term Homologous series.
3. {xplain 1-butyne give white precipitates with Tollen's reagent but 2-Butyne does not.
4. H-0-H angle in Hz0 is 1040 27" while H-S-H angle in 920208,
5. Define the term electronegativity.
6. What is Mosely’s periodic law or Modern periodic law ?
7. What is common ion effect,
8. Define P! How the pHscate useful to classify the solution.
9. The Solubility product of AgCl is 2.8x10-10 Determine the solubility of AgCl in pure water.
10. Write limitation of instrumental methods.
11. Write Advantages of [nstrumental methods.
12. Discuss student’s Q-Test with its equation.
Q-3 (A) Complete the following reaction and give its detail stepwise mechanism. (10}
@) CHs+Ch_hv 7 +?
{B)Write keto-enol tautomerism with illustration.
OR
Q-3 (A) Expain kinetics and detail stepwise mechanism of E-1 reaction.

(B) falculate Percentage yield of the product cbtained upon monochlorination of n-
pentane, The relative reactivity of 1, 20 and 39 Hydrogen atom is 1:3.8:5
respectively.

Q-4 (A) Define Ionization the energy? Discuss the factors affecting the magnitude of  (10)
lonization energy.

(B) £alculate the electronegativity of carbon atom from the data given as Ey.q= 104.2

Kcal/mole, Ec.c= 83,1 Kcal/mole E ¢.n = 98.8 Kcal /mole and XH= 2.1
OR

Q-4 (A) Define electron affinity ? Discuss the factors affecting the magnitude of electron-
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affinity.
(B) £alculate o and Z effective 4s -electron in (i) Mlll‘[Z=2 5) (ii) Cu (z=29)
Q-5(A} What is Hydrolysis ? Derive the equation (10}
Kn= % relation between weak acid and hydrolysis constant.

(B) A Solution contain 0.1 M Cl' ion and 0.01 M Cr0s 2 ion. When AgNO; will be added to
this solution, which salt will precipitate first ? what will be the value of [Ag*] when the first
salt just precipitate, what will be the value of [Ag*] when the second salt just precipitate ?
what will be the value of anion when the second salt just start of precipitate ? (Ksp (Agz
Cr04)=1.9 = 10-12)

Q-5 (A) Write a note on Indicators
(B) Calculate the Solubility of CaF:z
() In 0.1 M Ca(NO3)2 Solution
{ii}) In Pure Water
Q-6 (A) Write stages of Analsis (10}
(B) Define the term chemical analysis and Discuss application of chemical analysis.
‘OR
Q-6 (A) What is Sampling ? Discuss Sampling of solid, liquid and gas samples.

(B) Define : Error Give complete classification of error.
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4. Qeullell g-2eell Aol uH{ls2el W uAl 53
12, BoRg ozt Ug(dafloll LUl cull.

y-3 (A) ollAell ylABau yol 5 2t Aoll Qotden uatettet ugld W, {0

() CHs+#Cla_hv 7?7 +?
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10, 20 A 30 slESFlosel UQYell AR A yABa 1:3.8:5 8.

Y-y (A) ltells2e Goftoll carvan 2l ? wsllsg Gafell dladtell uusdl ¢ 1¢)

uRaollell 224 82,
(B) En-i=104.2 Kcal/mole, E c.5 = 98.8 Kcal/mole Ec.c=83.1 Kcal/mole Ul XH=2.1 ,
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